


BAAAD, QA2 s, GAZF O] B

©9

®
@@*}Z}%% e apAgolc,

®
@ BYPAFL Azl
®

al

2 &7 yehd 2



< v ROt

s
N

1&

® 34

@ A

AtetE|EolH.

ol
B

® A2t




4. o2 I™A4 0ABCD &= Attt Eolth, AABC = 80cm? , ADOC =
30cm? ¥ ], AOBC 9] ¥lo]=?

A D
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B C
@® 20cm? @ 30cm? ® 40cm?
@) 50cm? ® 60cm?

AD//BC o]B=2
AABC = ADCB = 80cm?
- AOBC = ADCB - ADOC = 80 — 30 = 50(cm?)
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AABO = ADCO = 40
F,2A0=CO o|E=2
.. ABOC = 80
a2kA AABC = AABO + ABOC = 40 + 80 = 120




6. o 187} o] AD//BC 91 Altte]E ABCD oA/ OD : OB =2: 3
olt}, ABOC = 90cm? ¥ w], ABCD 9] Yo|S F5tojet, (&, &
9= A=)

A D
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B C
» EH.
> Heh: 250
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ACOD : ABOC =2:3 0]|B&
ACOD:90=2:3 .. ACOD = 60cm?
ojuf AABD = AACD ©o|B2

AABO = ACOD = 60cm?

T, AAOD : AAOB =2:3 0|B2

AAOD :60=2:3 .. AAOB = 40cm?

- 0ABCD = 40 + 60 + 60 + 90 = 250(cm?)
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OP &= 3%, BO = DO ©]1 BP = DP ©|2& ABPO = ADPO
(SSS &)

AAPB ¢} AADP 9|4 AP & F5o0]1

BP =DP °|1,

(APB = /APD ©|2& AAPD = AAPB (SAS %)
w2tA] /PAB = /PAD ©]t}.
w}ela] gABCD & vF2Ro]1, /AOD = 90° 0|82
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tjZtAolt}, /ABD, /BDC 9] o] 524 0]
AD, BCt 9= A2 42T E, Fet & o,
DE = 8cm ¥ W, oEBFD ¢] E¥|+=?

@ 30cm @)32cm ® 34cm

@ 36cm ® 38cm

~&B

EB//DF°|2% (EBD = (FDB©°|i AD//BColR =&
(EDB = /DBF o]t}

u2tA AEBD &= o] 5H 4zt 0|11, DE = BE©| 22 oABCD
+ frERo|th.

DE = 8cm ©| B2 E¥&= 4 x 8 = 32(cm) o]t}




10. g Iy 2o FPAFAYP ABCD oA A E= CD 9 4ol
AP :PE = 2:1°]t}. oABCD 9] Hol7l 60 Y o], AAPQ 9] Yol
“Fatolzt,

A D

AACE = %AACD = % X %DABCD =15
AAPC : AEPC=2:190]E=2

AAPC = ;AACE = ; x 15 =10

AAPQ : ACPQ=1:1

. AAPQ = %AAPC = % x10 =5
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oh2 I3t o] HPAHAE ABCD 2 Yo7} 240cm? ©] 1 BC
HSEHZE, F,CD O T4& G2 2 1, sAFG &] Hol=?
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@ 20cm? @ 40cm? ® 60cm?

@®)80 cm? ® 100 cm?

94
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AABF £} AAFC oA =o]7F 231 @HHo] 2: 10]BE AABF :
AAFC=2:1

AABF = ; x AABC = ; X % x OABCD = 80(cm?)

npb7}A] BP0 2 ADFC — %ABDC

1 11 1 - 9
AFCG = §ADFC =3 X 3ABDC = 12|:|ABCD = 20(cm?)

AAGD = %AACD = iDABCD = 60(cm?)

- AAFG = OABCD - AABF — AAGD - AFCG = 240 — 80 —
60 — 20 = 80(cm?)




12. o8 183 & HPAPAY ABCDOJA DE : EC = 1: 29 o,
AADE + AFEC 9] g2 A ABCD 2] Ylo]2] 2 ujQl7}?
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AADE ¢t ABCE £ =°]&= #1 @io] 1 : 20|22 AADE :
ABCE =1:2

1 1 1 1
AADE = AACD x 132~ §|:|ABCD X 3= EDABCD
ABCE = 2AADE = %DABCD
- 1
AF //BCo]|2 & AFBC = ADBC = EDABCD

1 1
AFEC = AFBC — ABCE = (5 - §) x OABCD

= %DABCD

. AADE + AFEC = éDABCD




